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ENGLISH

Read the following passage and answer questions 1-5:
Many young people know that conservation is necessary.
Boy scouts in many countries study man and nature. These
‘conservation volunteers’ spend their spare time planting
trees, building bridges, and so on. Some girls in a town in
United States cleaned the banks of their river, and a
group of boys in a village in Bangladesh mended a
wooden bridge on a canal and cleaned the canal of debris.
Actors; singers and writers in many countries have
spoken about conservation. The popular English rock
band, the Beatles and the singer Cliff Richard, have made
records on conservation. The money from the sale of the
records has helped conserve wild animals.

Choose the appropriate title for the passage above:
A. Saving Man and Nature

B. Man and Animals

C. Conservation Volunteers

D. Cleaning River Banks and Canals

E. Singers. Writers and Actors

What do Boy Scouts pursue?

A. They look after animals

B. They study man and nature

C. They mend bridges on canals

D. They plant trees

E. They clear river banks.

What is common between the girls in United
States and the boys in Bangladesh?

A. They live in two different countries

B. They work at conservation full time

C. They work as cleaning experts

D. They do conservation work to pass exams

E. They do voluntary work

What did the Beatles and Cliff Richard achieve?
A. They made records

B. They popularized their genre

C. They conserved nature and wild animals

D. They helped conserve wild animals

E. They made a lot of money

‘Spare time’ means
A. Make time

C. Extratime

E. Too much time
Find the correct sentence (questions 6-7)
A. She had faith and hopes for the future
B. She had faith and hopes in the future.

C. She had faith and hopes in future

D. She had faith in and hopes for the future.
E. She had faith for and hopes in future.

B. Siesta time
D. Extended time

0.E

~

A. She was interested both in plant and animals.

B. She was interested in both plants and animals.

C. She was interested both in plants but also in animals.
D. She was interesting in both plants and animals

E. She was interested in plants, animals, both.

Select the pair that best expresses a relationship similar
to that expressed in the pair FISH : SCALES

A. plane :wings  B.cat:claws C. bird: feathers
D. snake : fangs  E. song : notes

Fill in the blanks with appropriate words (questions 9-12):

9.

10.

11.

12.

13.

14.

15.

16.

17.
18.
19.
20.

Let your — be your guide.

A. information B. conscience  C. data

D. hands E. legs

We were —— friends in that strange country.
A. among B. upon C. looking
D. between E. into

—all his attempts to solve the problem, he failed.
A. After B. Because C. Before
D. Despite E. During

My dog is smarter than —

A. their B. theirs C. your

D. her E. we

"He hardly works’. In this statement “hardly’
means:

A. very hard B. rather

D. rarely E. remarkably.
Find the antonym for the word Infatuation’:
A. Apathy B. Fascination C. Love

D. Interest E. Likeness

Which of the followingword is spelt correctly?
A. Restaurant B.'Restaurent C. Resturent
D. Resorent E. Restourent

Find the synonym of the word ‘Collapse’:

A. Miracle B. Wonder C. Rise

D. Debacle E. Lapse

Choose the correct prepositions (questions 17—19)
He died —illness.

C. perhaps

A. of B. on C.by D.with E.in
He lives — his sister’s money

A. with B. for C.on D.from E.of
We were surprised — his failure.

A. for B.about C.at D.of E.on
What does the word “Obese’ mean?

A. Fat B. Slim C. Healthy
D. Emaciated E. Serious

Answer Keys: 1.C2.B3.E4.D5.C6.D7.B8.C9.B 10.A

11.D012.B 13.D 14.A 15.A16.D 17.A18.C 19.C 20.A
ACCOUNTING

e e afepRt Mo wiffe afstams T

(BFRS) fad=®a =wa? [Which of the following

institutions  determines Bangladesh Financial
Reporting Standards (BFRS)]?

A. ICMAB B. BSEC C.BMA

D. BIBM E. ICAB

@36 @A KAy Ieqm o T g @
WS AP CIR Roqe 2 | IBAF© @R O 9
?A: (A company distributed free shares among the
existing shareholders at 5:1 ratio. This event will be
termed as issue of:)

A. 3185 1117 (Right share)

B. @S9 ¢4 (Bonus share)

C. wlifyssia o<1 (Preference share)
D. sge ¢ (Ordinary share)

E. Swre e (Founder’s share)




ST SCEIRA SIfFt) PQS @2 9,000 BIFR T
TG A7 IR | FACFRT T TS R, 000 BIFR e
RS 33 @32 @A v, 000 iR NG FTT &
IR | W 03 BRI SR T TF 80,000 BIFT
T, 03 WFRA N N2 Trelfers 51w -~ T
%w3? (At October 1, PQS Company reported
owner’s equity of Tk. 35,000. During October, the
owner made additional investments of Tk. 2,000
and the company earned net income of Tk. 6,000. If
owner’s equity at October 31 totals Tk. 40,000,
what amount of owner drawings were made during
the month?)

A. Bi: o (Tk. 0)

C. BI: 8,000 (Tk. 4,000)
E.Bi: 4,000 (Tk. 7,000)
R00R TR & GEAIR T 3,000 BIFR F@~iife Raw
I | TN FHIT vo,000 B, ITE SgFE ¢
I @R AIF SHRIT I 0,000 51 | T& I®A
IR e > st J&iee w=en e @ &=
©¢,000 BIF! | FREART THf6re WAIBA ¥ FAC T\
s=oife @ @re 3t =S 7e3- (On July 1, 2002, Masud
sells equipment for Tk. 22,000. The equipment
originally cost Tk. 60,000, had an estimated 5-year
life and an expected salvage value of Tk. 10,000. The
accumulated depreciation account had a balance of
Tk. 35,000 on January 1, 2002, using the straight-line
method. The gain or loss on disposal is—)

A. T ©,000 5138 (Tk. 3,000 gain.)

B. #1® 3,000 51 (Tk. 2,000 gain.)

C. =f® 9,000 B (Tk. 3,000 loss.)

D. =f® 3,000 B (Tk. 2,000 loss.)

E. = ¢,000 513 (Tk. 5,000 gain)

A ve, 00,000 B 3R RGeS 2= [ @o0,00,000
B I@EE OHTS @A} @ (AW A few
JAGFH voo,000 BIF 8 900,000 GIF | TE IRET
@ wiR weq- (Nahar Hardware Store had net
credit sales of Tk. 6,500,000 and cost of goods sold
of Tk. 5,00,000 for the year. The Accounts
Receivable balances at the beginning and end of the
year were Tk. 600,000 and Tk. 700,000,
respectively. The receivables turnover was-)

A. a.43% (7.7 times.) B. o.b 9% (10.8 times.)
C. 5.0 39 (9.3 times.) D. so F= (10 times)

E. 53 99 (12 times)

wiffe RRrdite e ST @ o2 aw<a =4t =3, o <=4t
g¥— (The information provided in the notes that

accompany financial statements is required
because of the-)

A. TIYERIfed & (cost principle.)

B. sefermm! Sifsa &=y (full disclosure principle.)

C. fipreae Mfea =y (matching principle.)

D. sz Fife Fifex &=y (revenue recognition principle.)

E. erieTed &+ (conservatism constraints)

A =it e Reatta 8ty (Which one of the
following is the objective of Accounting?)

A. ERMTTR @A (Classification of transactions)

B. Tt ©gfs 961ea1 (To enhance business)
C. 57 ALFIHR &= (To reduce expenses)

D. Y% g &= (To increase profit)
E. Pral® azem ffie w2 s@@@r ¥4 (To provide

B. B1: v,000 (Tk. 3,000)
D. BI: ¢,000 (Tk. 5,000)

m information for decision making)

8.

10.

11.

ABC @=#lif§ XYZ @i (453 voo BIFR &N
AW T FER | ABC F==iifaa forr Al § 2o
?[e@? (ABC Company purchases Tk. 600 of equipment
from XYZ Company for cash. What would be the effect
on the components of the basic accounting equation of
ABC Company?)
A. T R WIH ?{f\% (an increase in assets & liabilities)
B. 3™W 432 AR (a decrease in assets liabilities)
C. 15 37 @1 ~feae= 76d =11 (no change in total assets.)
D. WIta (S #If§F$s =63 1 (no change in liabilities)
E. 5% 3 @< WA (an increase in assets and a
decrease in liabilities.)
MEN @R TR TR AT GG SR | 53T
TG, 2038-C8 [ S RiNGIFS g fmnet
feT AT @o,000 BIF 8 vo,000 BIF | T& AR
TR T EIfer IR AW O pfea =7
Q@ ¥ o REIFe Y A & 3,00,000
Bl | Wiy pfe ot e Rfvcsigs yegee
T 30% TR W ¥ FA X | 058 A 0> e
wifftd Gifee® YEeeTa 3@ F9?  (Sayem and Sabrina
are the two partners of a partnership business. On 1st
January 2014, the amounts of their invested capital
were Tk. 50,000 and Tk. 60,000 respectively. In the
middle of the year, Selim entered- into the business
and signed the partnership contract by investing Tk.
1,00,000 as capital. According to.the partnership contract,
the rate of interest on the invested capital was 10%. What
will be the amount of interest on capital of Selim at
31st December 20147?)
A. Bi: 9,000 (Tk. 3,000) B. 5i: 8,000 (Tk. 4,000)
C. BI: ¢,000 (Tk. 5,000) D. BI: s0,000 (Tk. 10,000)
E.B1: 8,000 (Tk. 2,000)
TMIERH I COIER ST TGt (& 3¢,000 BiFT |
Te ARSI T vo,000 BiFl, &7 (TS ,000 BIF 8
37ifdd= AT ¢,000 BIFT | fEARFE @ A9TT 27
R4l T do,000 BIFF A4 GT8 QTS =itz | [Fweiay
ATTF WA e 2d: (Leatherex Shoe Store has a
beginning merchandise inventory of Tk. 15,000.
During the period, purchases were Tk. 60,000;
purchase returns, Tk. 2,000; and freight-in Tk. 5,000.
A physical count of inventory at the end of the period
revealed that Tk. 10,000 was still on hand. The cost of
goods available for sale was:)
A. Biwl 43,000 (Tk. 72,000) B. Bl i 000 (Tk. 68,000)
C. Bi# av,000 (Tk. 78,000) D. Bl 3,000 (Tk. 82,000)
E. 1=l 50,000 (Tk. 90,000)
@3 &F T AT FIF I ffe e ks
TR 88 DI g TOIHS T GFB 8v8 GIF
e <@ | i TNEn Rfw o o = Afé?
(If a check correctly written and paid by the bank for
Tk. 448 is incorrectly recorded on the company’s books
for Tk. 484, the appropriate treatment on the bank
reconciliation would be to:)
A. T (EIR A 0y B @19 F41 | (add Tk. 36 to the
bank’s balance)
B. 79w (e e wu Biwl @19 541 | (add Tk. 36 to the
book’s balance)
C. T (& (AF vy ol el 3411 (deduct Tk. 36
from the bank’s balance)
D. 79w (& (AtF 88 Bl f[rzisl w41 1 (deduct Tk. 448
from the book’s balance)
E. M9 (&1 (S »8 Bl st w1 1 (deduct Tk. 84
from the book’s balance)
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13.

14.

15.

16.

17.

18.

35 2SI T bo,000 B A S T T | TG

R FRMT QW ¢,000 BIF W T T | 99 RETH

fRsfiter oy 2R e (ST (el 79 @R @ I”W U6 T4

9,000 5% | AL WS wg@d, 9w 3= & 3w w4t

R: (A company purchased land for Tk.80,000 cash.

Real estate brokers’ commission was Tk. 5,000 and

Tk. 7,000 was spent for demolishing an old building

on the land before construction of a new building

could start. Under the cost principle, the cost of land

would be recorded:)

A. B1: b9,000 (Tk. 87,000)

C. BI: »¢,000 (Tk. 85,000)

E.BI: 3,00,000 (Tk. 1,00,000)

fm @A Emme i Tee et I T2

(Which of the following transactions would not affect

owners’ equity?)

A. ffers itel 3 fifmael (Recording cost of goods sold)

B. 7°m i@y ferfeqmaael (Recording a cash sale)

C. 43 i@z Fif@@aael (Recording a sale on account)

D. 3T a5 fef*Rassael (Recording utilities expense)

E. seimsgwaie @31 (Rurchasing inventory for cash)

SRR Tgmela] “afere @3t RErwa @resifars fwea

&9 fora 4iE? (Which of the following accounts

appears in the ledger of a merchandising company

that uses a perpetual inventory system?)

A. & (Purchase)

B. fafs #itel@ 253 (Cost of goods sold)

C. @ Rz (Freight-in)

D. @ 18t (Purchase discount)

E. &iwf8s sgw 1= (Beginning inventory)

@ SRS 7 IoR FITFE T 9B Fermia

TER IR A TR @ wEte. @®@? - (Which

concept or convention allows the accountant to

expense a pen-stand with a ten years life?)

A. BT g9l (Materiality)

B. B €=l (Going concern)

C. fmereaieire! (Reliability)

D. =¥ gt (Business Entity)

E. &aif$ (Disclosure)

A @I mem wew 3w 77? (Which one of the

following is not a capital expenditure?)

A. S9_IR%@ @ (Purchase of furniture)

B. ©fi @ (Purchase of land)

C. =125 =rew 953 (Copyright)

D. 3@ srifex s=w7 (Depreciation of fixed assets)

E. 5= «11f¢ @2 (Purchase of motor vehicle)

fReweeR vt @enfiem 1Rws @t #icg? (Which of the

following errors can be detected by trial balance?)

A. @ @M Sitavige F41 230 (A transaction that is
not journalized)

B. 96 witml wife y2am sz ¢t ol =z (A
journal entry that is posted twice)

C. T feifamaece #fw wa (Offsetting errors are
made in recording the transaction)

D. o= g=rsea= v (A transposition error)

E. 4@ w1 (Error of commission)

e @ o e s @w? (Which of

the following is the correct sequence of steps in

the recording process?)

A. ZFRFFac, Ttz esae (Posting,
journalizing, analyzing)

B. s, feerd, s (Journalizing,
analyzing, posting)

B. B: bo,000 (Tk. 80,000)
D. B1: 53,000 (Tk. 92,000)

19.

20.

C. frerael, geressad, simad (Analyzing, posting,
journalizing)
D. fReeel, wiamese, geessad (Analyzing,
journalizing, posting)
E. witawizel, giessel, eswe (Journalizing,
posting, analyzing)
e @R T8 cmit SRR Terwfs e s
N wwgld? (Which of the following is less
important as a measure of short-term liquidity?)
A. gfFs 31 sfy=i&t (Quick or Acid Test ratio)
B. veifs sigeite (Current ratio)
C. miw wg=ite (Debt ratio)
D. veifs F@w (AtF 9°m @31z (Cash flow from
operating activities)
E. emMiE S$w Sg7irs (Receivable turnover ratio)
@ AfeSim Berlifrs st AT TgW Sooo @I,
AN TGW boo @FF @R R&EW vroo @751 IWM
Tl T Wo,000 BIF T, ©F Tedlifrs ot @3
&fs &7 F9? (In an organization, opening stock of
goods produced was 1000 units, closing stock was 800
units and sales was 6,200 units. If the cost of
production was Tk. 30,000 what will be the per unit
cost of production?)
A. T 8 (Tk. 4) B.%: @ (Tk.5) C.BI: v (Tk.6)
D.B&: a (Tk. 7) E. %0 v (Tk. 8)
Answer Keys: 1.E2.B 3.B4.B5.D6:B 7.E8.C9.C 10.C
11.B12.D 13.E 14.B 15.A 16.D:27.D 18.D 19.C 20.B
PRINCIPLES OF BUSINESS

MANAGEMENT
[ A G IR AR GRARRTS! (FI1?
(Which one is the best sequence of the process of
management?)
A. AREERI-TeT-Teg-FEad  (Planning-Organizing-
Leading-Controlling)
B. ifei-frar@el-sored-cgg  (Planning-Controlling-
Organizing-Leading)
C. ~fR=a-@ee-swie-faad (Planning-Leading-
Organizing-Controlling)
D. fRage-siae-~feel-creg (Controlling-Organizing -
E.

Planning-Leading)
orge-fRREel-(Tee-ARFE  (Organizing-Controlling-
Leading-Planning)

@35 2AfSBITTT AT wwga | == z=1: (The most

important asset of an organization is:)

A.=d (Money) B. z&@i-ife (Machinery)

C. &% (Land) D. wwel (Efficiency)

E. W= M (Human Resources)

2n3ret e @renf e fisa i Bfef wfés 7=

(Which of the following statements is incorrect in the

context of a private limited company?

A @ @I e e $97 o [7@d sa 2o 99
wadIE (92 (There is no need to issue prospectus for
selling its shares)

B. @ @ifa *RIF WIS (0@ (1 il f{eay &2 (There is
no restriction on the transferability of its shares)

C. @ riffa foresa qfgs e wee A= T
@I raIgFel @2 (There is no compulsion for its
accounts to be audited by an external auditor)

D. SRR 7'Ew TR NI @ @A o7 w1 77 (It
can be formed by a minimum of two members)

E. @ @mifta fibrreme weom gz Jgaisl (8 (There is
no obligation on its directors for retirement)

| 28




10.

11.

7R @ ISR IR T AT FLNWITIR T

R IAGEH — 8 — | (The maximum number of

partners in a banking and a non-banking business are

—and — respectively.)

A. do, 3¢ (10, 15)

C. 50, 20 (10, 20)

E. 20, ¢o (20, 50)

IRFHAR @FF S GRS wwel @ AweE? (At

which levels of management conceptual skills are

mostly required?)

A. 97 %3 (First line)

C. 3 =a (Mid level)

E. Sw-wx5 ®7 (Upper-mid level)

a3 oIRfee Ffide @A oFa Row el

wfers =&1: (The most important document of a public

limited company is:)

A. &3¢ 7@ (Prospectus)

B. #ifat fasiet (Articles of Association)

C. 3if¥s @@ (Annual Report)

D. #face@® (Memorandum of Association)

E. sf=wea st #@ (Certificated of Commencement)

N clgwar zeqdt ©f6w? (In consideration of the

owner’s liability, which of the following businesses

should be the least preferred?)

A. @3 TfFIAE F9a (Sole Proprietorship)

B. 371 I59110aR & SR SIFaR (Partnership for a
banking business)

C. TI-371fF IR & SAqmit SR (Partnership for
a non-banking business)

D. &igres fifsese @i (Private limited Company)

E. sixfere ferfsicse @ ==iif" (Public limited company)

ffsa et ey =% 9% ¢%0q | (The statutory

meeting is applicable toa——.)

A. @33 TfFFMIEE FFAE (Sole proprietorship business)

B. S-51efa FPICRR &) SicAmidl S (Partnership for
a non-banking business)

C. T TR &) St FI91 (Partnership for a
banking business)

D. &i2tet &IfNtse &= (Private limited company)

E. Afers fificse @@= (Public limited company)

AT AMARS AGFITAH, dob8 AP @ ANIR AN

OFCH T AR (MG AR TS T8 it gt

Face AA? (According to the Cooperative Society

Ordinance, 1984, what percentage of the total capital

of the society can a member hold?)

A. ¢% (5%) B. 0% (10%) C. 3¢% (15%)

D. 2% (20%) E. 2% (25%)

faa @i ==sEHR €=7? (Which of the following is a

clause of the Memorandum of Association?)

A. cRIRTRReRTE wiR-ifg (Liability of the shareholders)

B. ~ifevreista =Frel (Powers of the directors)

C. oI el (Meetings of the shareholders)

D. f&o19 @ fR@F (Accounts and audit)

E. st 3%9 (Distribution of profits)

«ffw i f1.-97 Mfe== <29 == : (The ownership

pattern of Exim Bank Ltd. is:)

A. 213teb FIfSEe @=iif¥ (Private Limited company)

B. 7o fifscse @i (Public limited company)

C. 32 fewia (State Owned)

D. sieiwifa F1wa™ (Partnership)

E. sy wfifs (Cooperative Society)

B. 3¢, 20 (15, 20)
D. 20, 9o (20, 30)

B. Tt 7 (Top level)
D. 5«1 &7 (All levels)

12.

13.

14.

15.

16.

17.

18.

20.

Fferw e IR (T Tlige RFah =R T
= }F : (Choosing the best course of action from
among different alternatives is called:)
A. fRTa*=T (Direction)
B. Praf® @< (Decision making)
C. “Rrrfer fSoa=at (Consultative direction)
D. =7y (Objective)
E. Sifs fdi=el (Policy formulation)
@R fR-BeIWie ga @S &? (Who is the proponent of
two-factor theory of motivation?)
A. T (Maslow)
(Hertzberg)
C. Wyiwtae= (McGregor)
E. &= =513@ (Henri Fayol)
AR PR ARG Fe-Rom et se 3@ @Hb?
(Which one acts as the guideline of partnership business?)
A. Arifes et (Mutual Trust)
B. pfe=@ (Contract)
C. wwra @eiret (Qualification of partners)
D. 3= (Good relations)
E. sisfiwel (Sincerity)
Fifaafa vt I=Ce AW (Technical skills mean:)
A. I 1T@ @ (Task related knowledge)
B. siwifé< el (Social knowledge)
C. o=« e (Thinking ability)
D. sreafes @ (A Political knowledge)
E. wif¥fs w4 (Financial knowledge)
I ARG ARBIATR Gy FHATF 2 T ARGIATS AT
2?7 (Which one of the following requires at least 2
directors?)
A. ST AfIs (Cooperative society)
B. SIS SIF= (Partnership business)
C. &li2r®6 fel, =i (Private Ltd company)
D. iffers fe1, @i (Public Ltd company)
E. asifere=1 S19a1a (Sole proprietorship business)
THIGCOINA CNFA (AT T (TS T [T A4S
B2 (Which of the following organization is suitable
for eliminating the exploitation by middlemen?)
A. a1 (Sole proprietorship)
B. sigiwifa (Partnership)
C. &i3reb fol. @i (Private Ltd company)
D. #ii&ferss fe1, @i (Public Ltd company)
E. sm&w 1S (Cooperative society)
FICEEE A T Ao @=6? (Which one is the
oldest form of business organization?)
A. a1 (Sole proprietorship)
B. sigfwifa (Partnership)
C. @ =14 @it (Joint Stock Company)
D. s 7f%fe (Cooperative society)
E. B9 19419 (State owned enterprises)
G JPAER FS & 327 F@? (Who bears the losses
of the state owned enterprises?)
A. IZF9d (Managers) B. 9FE (Government)
C. #fsser@ad (Directors)  D. ai@@id (Clients)
E. sif¥tsid (Officers)
3-Rewem e @ TEE 9Fe ofe! o 9Fe
corem {6 R A4y R&w $@? (In which of the
following models of e-business a consumer directly
sells goods to another consumer?)
C.B2B

B. =&t
D. 4557 (Thomas)

A. C2B B. C2C
D. B2C E. B2G
Answer Keys: 1.A2.E3.B4.C5B6.D 7.A8E9.D 10.A
11.B12.B 13.B 14.B 15.A 16.C17.E18.A19.B 20.B




10.

11.

12.

13.

FINANCE

How do the interest rate and bond prices change?

(7 T 8 I0TA IWR WA Froid ~IRRTee 27?)

A. in the same direction B. in opposite directions

C. without any relationship with each other

D. positively

E. sometimes is the same and sometimes in the negative
direction

In which year the Financial Institutions Act was
passed? (SNif¥e afedia =2 F© At 27 Tt =7 7)
A. 1994 B.1993 C.1991 D.2002 E.2010
Which institution issues treasury bill? (15 afs3i
e Genifd [{e =ie?)
A. central bank B. Ministry of Finance

C. listed company D. private commercial banks

E. specialized financial institutions
What interest rate doubles Tk. 500 in 9 vyears
according to Rule 72? (ax-Rf¥ sg@iflt eoo 5171 » I=ca
fagd zTe T0 AR F© TSI TS T0E?)
A. 8% B.9% C.10% D.11% E.12%
The market where new securities are bought and sold for
the first time is called —— market. (@ IS TS R
A. primary B. secondary  C. tertiary

D. capital E. treasury
Which one is not the source of long-term financing?
(F=B AT SRR T T11?)
A. debenture B.share  C. bond

D. commercial paper E. treasury bill
Which investment is the most risky? (&= fRfsezist
TR Q&fH s
A. bank deposit B. bond purchase
C. purchase of preference share

D. purchase of government bond

E. purchase of ordinary share
What does BSEC stand for? (BSEC I#ts it ([QRIR?)
A. Securities and Exchange Commission

B. Bangladesh Security and Exchange Commission
C. Bangladesh Securities and Exchange Commission

D. Bangladesh Securities and Exchanges Commission

E. Bangladesh Security and Exchanges Commission
Which one is the non-discounted capital budgeting
technique? (TAL IS H-GF IGIRI T°W 2R (F02)
A. payback period B. net present value
C. internal rate of return D. capital rationing

E. profitability index
Which one should be greater that the cost of capital to
accept a proposal for investment? (Rfsctasm &=
@36 ATy aArd FACe A FOWR WF JHALRT T+
et (@ 7S 7W?)
A. ARR B. NPV C.IRR

D. payback period E. profitability index
Which one is the least liquid current asset of a
company? (A7 I T ©F& F=9W (FIH5?)
A. cash B. bank balance C. prepaid expenses

D. A/C receivables E. inventory
Which of the following components of capital has the
highest cost? (fNeFa Foiga Toimimefam iafba T
AR @F7)
A. ordinary equity  B. preferred share C. debenture

D. retained earnings E. profit
Which of the following is not unsecured short-term

credit? (o3 @I SafFs Tgo@m™t A 977)
A. line of credit B. revolving credit
C. transaction loan D. floating lien

E. bank loan

14.

15.

16.

17.

19.

20.

Which type of annuity requires payment of installment
money at the beginning of each installment period?
(@R @R et Ffen of Rema afs cmma
wFre Fom 1R fAfve Fta?)
A. ordinary annuity

C. annuity compounded

E. perpetuity

Which type of risk is avoidable through proper
diversification? (I AR NG @ AR
I afSrm qrext 7e37?)
A. portfolio risk

C. unsystematic risk

E. financial risk

What does the discounting process mean? (fesi@efHr
efeaa g F?)

A. awarding concessions

B. taking less money

C. ignoring importance

D. converting future value into present value

E. converting present value into future value

Which one is considered the ideal current ratio?
(Fwr @ v sarfs wigeirs e Rfee?)
Al0% B.15% C. 1.1 D.2:1 E.31
What does the BSEC regulate? (BSEC f& fazae 3ta?)
A. bond market B. share market C. money market

D. secured exchange E. financial market

Which one is not an external source of financing?
(@A s AT Bt 772)

A. retained earnings B. share capital C. bank loan

D. trade credit E. share premium

To whom the bonus shares are distributed? (<=
CRR 08 07 IBA 71 27?)

A. existing shareholders B. previous shareholders
C. new shareholders D. directors

E. employees
Answer Keys: 1.B2.B3.A4A5A6D7.E8C9A10.C
11.E12.A 13.D 14.B 15.C 16.D17.D 18.B 19.A 20.A

MARKETING

ST 2T & 9 I GFIES A6 GTAHCTB w157
TR AfGHITE 397 =W : (The process of selecting one or
more market segments to enter is called:)

A. WItF5 Bresffb: (market targeting)

B. <I&6 ©fwew= (market dominance)

C. =5 foirs (market research)

D. WZG ~femifaz (market positioning)

E. w6 @icaes=4 (market segmentation)

e @Al 9IRS AES 8 WIFEH! Wtr AN
azvd (et @ e z@? (Which of the following
consists of a group of customers who share a similar
set of needs and wants?)

A. T fq7id I (vertical marketing system)

B. =& AcEG (market basket)

C. 3= e (market share)

D. e @i (market segments)

E. s ®< (market level)

JEREreIAT YU Ty F? (What is the main
objective of marketing?)

A. AT S F1 (to earn profit)

B. (si7 vifzmi 29 41 (to satisfy customer demand)

C. ¢y TeAme S (to produce product)

D. #ey 357 41 (to distribute product)

E. o= 1gfe {9 I3 Il e F41 (to earn profit by
ensuring customer satisfaction) 30

B. annuity due
D. effective annuity

B. systematic risk
D. total risk




10.

11.

12.

e @l 2ol RetR Tweifes Refewam Samiw?
(Which of the following is not an element of
psychographic segmentation?)

A. @ (social class) B. @<=l (lifestyle)

C. ¢oM™It (occupation) D. 35f&y (personality)

E. =2 (interest)

o el coret Iar Refeaean fofe T2 (Which

of the following is not a basis for consumer market

segmentation?)

A. csienifers (geographic)

B. sifavreei 95 (operational)

C. wieyl @%@ (demographic)

D. w=wifgs (psychographic)

E. si5afass (behavioral)

@36 @FofT & I T WeIM [IZA I

®=g&? (When is the production concept appropriate

for a company to use?)

A. 737 255 s (If the product is unsought)

B. 399 4IRS Ao T @carew (When continuous
product improvements are needed).

C. I AN ToIfeF @R Y FACS GeAMITAITS!
el drEs (When the product cost is too high and
improved productivity is needed to bring it down)

D. T 2[teld WEREIR (TF @ (When the supply
of product exceeds demand).

E. 39 =<5 impulse =iy (If the product is an impulse good).

I GFH TSR ot G [WE wrers oot a=e

AW ©f {9479 I 7 ©ItF ITA: (When an importing

country sets limits on the amount of goods it will

accept of a certain product category it is called a:)

A. IBT (quota) B. qigi (barrier) C. ¥ (tariff)

D. w=eaig (embargo) E. 919 (bar)

JeRETeFAR SejigfaF Teqm FI9B? (Which one is

the latest concept of marketing?)

A. SeAime s (production coneept)

B. #iely s (product concept)

C. @3 T=am (selling concept)

D. IEEmresae Teqw (marketing concept)

E. smifwe qrereres=el sedm (holistic marketing concept)

SATTSSFACIA TLT (P €A BTN 7B T4 27?

(Which type of utility is created by warehousing?)

A. gvste A (place utility)

B. et SHzael (time utility)

C. Gt S (service utility)

D. ~rgore el (possession utility)

E. sisre Socaet (form utility)

FIS (AT AR (SN (GG (N (I G BT

2 *a =@? (Which type of utility is created by

producing furniture from wood?)

A. Felere Boial (form utility)

B. smr@sre Soicaiel (time utility)

C. 399 S/t (place utility)

D. =gors S{taisl (possession utility)

E. criets Socai (service utility)

Tife W €7 A43? (What type of product are

magazines?)

A. @SS @ia (impulse goods)

B. S5 #A9y (staple goods)

C. ceIst 2147 (consumer goods)

D. faf¥ =iel7 (specialty goods)

E. 7fR«t =ie17 (convenience goods)

e @ IR F=FF Fw? (Which ones of

the following is a facilitating function of marketing?)

A. (e3¢t (packaging)

B. eS¢ (warehousing)

13.

14.

15.

16.

17.

18.

19.

20.

C. W+ RdRe 8 @ <maa¢ (standardizing and grading)
D. &&= (selling)

E. #fs=== (transporting)

@ AT el ¢ Ge o F I F@
TGE FEANT NG 27 Rew 21 77 o e (The
promotional strategy that calls for using the sales
force and trade promotion to move the product
through channels is called:)

A. 3T @ (place strategy)

B. s & (push strategy)

C. =@ &= (pull strategy)

D. afs &= (blocking strategy)

E. sf¥e &= (integrated strategy)

»5.5¢ & @073 7=15? (What type of pricing is 99.95?)
A TS 51 (promotional pricing)

B. s==sifgs ¥=7 (psychological pricing)

C. @It%% ¥ (segment pricing)

D. SI&-=i =1 (markup pricing)

E. cofrie 31 (decimal pricing)

e @9 IwFEesd @ el et
T ABICs  FReA? (Which of the following
marketing communications tool is most effective at
influencing customers at the conviction stage of buyer
readiness?)

A. @171 (advertising)

B. #=feifS (publicity)

C. ¢ Lt (sales promotion)

D. 35f&= K@ (personal selling)

E. 3r5%5 @ GIHCAREERI (events and experiences)

M @3B Tox 2197 ARSRMT AT BT &, A @
B S (A0 TS =W, ©IReE G1R SAeeE I9 =} : (If
a new product is better than the same product of
competitive firms in terms of quality, features, and
value in use then it is called:)

A. &g 47 (quality product)

B. sifasy Bwea “i¢i (unique superior product)

C. #femiwe =l (positioned product)

D. & vig =1 #i¢l3 (pre-launched product)

E. fafsmrs #iety (premium product)

IR (AT #Ael7 A O i ww zent $fos? (Where
should product or service design start?)

A. TR et @ (from the marketing department)

B. Wtfoe #ifa=al (2@ (from marketing planning)

C. 2l cerestiers o3 =i (from the product development team)
D. @St (4tF (from the customers)

E. aieqwell &fS91 (2t (from the research firms)

fAm e 3% 29 8 peETTeIE T AwIR CHEiE wEera
T A AeneE & @ =@ (What are businesses or
products with low market growth rates and high
relative market shares called?)

A. 3513 (Stars) B. ¥ 91€ (Cash Cows)
C. @159 % (Question Marks) D. ©37 (Dogs)

E. F7 235691 (Cash Rebates)

TR QIR HL&d (T SR 907 R FIACS ATF?
(At what stage in the product lifecycle does the sales
growth start to slowdown?)

A. =i B34 (product development)

B. 315411 (introduction) C. &3f& (growth)
D. st (maturity) E. 7<= (decline)
e @A AEereTe Refeera S=iwiw 75? (Which one of

the following is not the element of marketing mix?)
A. 39 (place) B. g3 (people) C. 75 (product)
D. & (promotion) E. 3= (price)

Answer Keys: 1.A2.D3.E4.C5B6.C7.A8E
11.A12.C13.B 14.B 15.D 16.B17.D 18.B 19






